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(1, 3) 3381l 3 £=0.001 Uais g cav ol 38, 51, f(x)=x log x-1=0 aalxall )ix 2a -
(1, 3) 3_m8h a0 53a olla 5l e a5 f(1).f(3)<0 Ol oDhe i Allal) e as

U [F

-

f(1)=-1
f(3)=0.431

E=b2 - az= 3—2.5=0.5

_a2+b2 2.5+3

r = = 2.75

€=by—ap=3-1=2 2 2
f(2.75)=2.2081
ao+bhby 1+3 ( )
r= > =——= 2 as=ay; bs=r;

g=b; —a3;=2.75—2.5=0.25
as +b; 2.5+ 2.75

f(2)=- 0.3979

a1=r; b1=bo;

r = = 2.625

d 2 2

£=b1_al=3_2= 1
f(2.625)=0.1002

r = 1 _;_‘I)_ bl = 2 _; 3 = 2.5 dg=4ds; ba=r;

—/ €=bs — as= 2.625 — 2.5 = 0.125
f(2.5)=- 0.0051
d->»=r, b2=b1;
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f=inline('x*log10(x)-1')
x1=input('x1=");
x2=input('x2=");
n=input('n=");
y1=f(x1);
y2=f(x2);
fori=1:n
if abs(x2-x1)>0.001
x=(x1+x2)/2;
y=f(x);
disp(x)
(yl*y)==0
disp('the exact root is’')
disp(x)

if y1*y<0
X2=X;
else
x1=x;
end
else
break
end
end

x1=1
x2=3
n=

2.5000
2.7500
2.6250

x1=1
x2=3
n=10

2.5000
2.7500
2.6250
2.5625
2.5313
2.5156
2.5078
2.5039
2.5059

x1=1
x2=3
n=15

2.5000
2.7500
2.6250
2.5625
2.5313
2.5156
2.5078
2.5039
2.5059
2.5068

(for 4al>)

x1=1
x2=3
n=1000

2.5000
2.7500
2.6250
2.5625
2.5313
2.5156
2.5078
2.5039
2.5059
2.5068
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(for 45l>)

f=inline('x*log" * (x)-1')
x1=input('x1=");
x2=input('x2=");
n=input('n=");
y1=f(x1);
y2=f(x2);
fori=1:n
if abs(x2-x1)>0.001
x=(x1+x2)/2;
y=f(x);
disp(x)
(yl*y)==0
disp('the exact root is’')
disp(x)

if yl*y<0
X2=X;
else
x1=x;
end
else
break
end
end
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f=inline('x*log" * (x)-1')
x1=input('x1=');
x2=input('x2=");
y1=f(x1);
y2=f(x2);
while abs(x2-x1)>0.001
x=(x1+x2)/2;
y=Ff(x);
disp(x)
(yl1*y)==0
disp('the exact root is ')
disp(x)

if yl*y<0
X2=X;
else
x1=x;
end
end

(while 44l>)
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NEWTON RAPHSON METHOD
Dbl 5 (sigas Adylo
s F'(X) o) B3l oY) F(X0) Adadill 3 ) gem alagl Uil 23 Aladl j3a e 1o By G Aadi X LAY 13
X1 G dlag) skt | F Al dad iy mill Aeall o X1 . X1 Akl e X jsae adadyg FoOANAl Lo

Sl J=dL X0,X1,F(X0) =l o
F'(X0)=F(X0)/X0-X,

X1=X0-(F(X0)/F'(X0))

xz :=i|_,.u=1§ '"T"l e C_Ih:l-.":,,-.; IR \:}_n

X0

X2=X1-(F(X1)/F'(X1))
(x1) 3

X3=X2-(F(X2)/F'(X2))
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syms X f(x)=x. In(x)-1=0 alol=odl jas 2 .
- vk 1. ) X o .
L‘_’;i;f"(gf‘)’," b £20.001 Lha ey, [1, 2] soml 3
a=input('a=');
n=input('n='); a=1.5
for i=1:n n=100
w=a-(subs(f,a)/subs(u,a));
v=double(w); 1.7788
disp(v)
if abs(w-a)<=0.001 1.7633
break
else 1.7632
a=w;
end
end
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ezplot (' x~2-10',[-10 10])
grid
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f=inline(' x"2-10")
x1=input('x1=');
x2=input('x2=");
n=input('n=");
y1=f(x1);
y2=f(x2);
fori=1:n
if abs(x2-x1)>0.001
x=(x1+x2)/2;
y=f(x);
disp(x)
(abs(yl*y) == 0)
disp('the exact root is ')
disp(x)

if yl*y<0
X2=X;
else
x1=x;
end
else
break
end
end
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(' xA2-10")

[-1 4] Jlall

syms x
f=x"2-10;
u=diff (f);
a=input('a=');
n=input('n=');
fori=1:n
w=a-subs(f,a)/subs(u,a);
v=double(w);
disp(v)
if abs(w-a)<=0.001
break
else
a=w;
end
end

syms X
f=x"2-10;
u=diff (f);
a=input('a=');
n=input('n=");
if subs(u,a)==0;
a=a+0.1;
end
fori=1:n
w=a-subs(f,a)/subs(u,a);
v=double(w);
disp(v)
if abs(w-a)<=0.001
break
else
a=w;
end
end
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